1. What characteristics of an asset make it useful as a medium of exchange? As a store of value?
2. The Federal Reserve conducts a $10 million open-market purchase of government bonds. If the required reserve ratio is 10%, what is the largest possible increase in the money supply that could result? Explain. What is the smallest possible increase? Explain.

3. Suppose that this year’s money supply is $500 billion, nominal GDP is $10 trillion, and real GDP is $5 trillion.

a. What is the price level? What is the velocity of money?

b. Suppose that the velocity is constant and the economy’s output of goods and services rises by 5% each year. What will happen to nominal GDP and the price level next year if the Fed keeps the money supply constant?

c. What money supply should the Fed set next year if it wants to keep the price level stable?

d. What money supply should the Fed set next year if it wants inflation at 10%?

4. Suppose that changes in bank regulation expand the availability of credit cards so that people need to hold less cash.
a. How does this event affect the demand for money?

b. If the Fed does not respond to this event, what will happen to the price level?

c. If the Fed wants to keep the price level stable, what should it do?

5. It is often suggested that the Federal Reserve try to achieve zero inflation. If we assume that velocity is constant, does this zero inflation goal require that the rate of money growth equal zero? If yes, explain why. If no, explain what the rate of money growth should equal.

6. Suppose that a country’s inflation rate increases sharply. What happens to the inflation tax on the holders of money? Why is wealth that is held in savings accounts not subject to a change in the inflation tax? Can you think of any way holders of savings accounts are hurt by the increase in the inflation rate?

1.  For an asset to be useful as a medium of exchange, it must be widely accepted (so all transactions can be made in terms of it), recognized easily as money (so people can perform transactions easily and quickly), divisible (so people can provide change), and difficult to counterfeit (so people will not print their own money). That is why nearly all countries use paper money with fancy designs for larger denominations and coins for smaller denominations. For an asset to be useful as a store of value, it must be something that maintains its value over time and something that can be used directly to buy goods and services or sold when money is needed. In addition to currency, financial assets (like stocks and bonds) and physical assets (like real estate and art) make good stores of value.
2.  With a required reserve ratio of 10%, the money multiplier could be as high as 1/.10 = 10, if banks hold no excess reserves and people do not keep some additional currency. So the maximum increase in the money supply from a $10 million open-market purchase is $100 million. The smallest possible increase is $10 million if all of the money is held by banks as excess reserves.
3. In this problem, all amounts are shown in billions.
a. Nominal GDP = P x Y = $10,000 and Y = real GDP = $5,000, so P = (P x Y )/Y = = $10,000/$5,000 = 2. Because M x V = P x Y, then V = (P x Y )/M = $10,000/$500 = 20.
b. If M and V are unchanged and Y rises by 5%, then because M x V = P x Y, P must fall by 5%. As a result, nominal GDP is unchanged.
c. To keep the price level stable, the Fed must increase the money supply by 5%, matching the increase in real GDP. Then, because velocity is unchanged, the price level will be stable.
d. If the Fed wants inflation to be 10%, it will need to increase the money supply 15%.
Thus M x V will rise 15%, causing P x Y to rise 15%, with a 10% increase in prices and a 5% rise in real GDP.
4. 

a. If people need to hold less cash, the demand for money shifts to the left, because there will be less money demanded at any price level.
b. If the Fed does not respond to this event, the shift to the left of the demand for money combined with no change in the supply of money leads to a decline in the value of money (1/P), which means the price level rises, as shown in Figure 1.
c. If the Fed wants to keep the price level stable, it should reduce the money supply from S1 to S2 in Figure 2. This would cause the supply of money to shift to the left by the same amount that the demand for money shifted, resulting in no change in the value of money and the price level.
Figure 1.
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Figure 2.

[image: image2.emf]
5. With constant velocity, reducing the inflation rate to zero would require the money growth rate to

equal the growth rate of output, according to the quantity theory of money (M x V = P x Y ).
6.  If a country’s inflation rate increases sharply, the inflation tax on holders of money increases significantly. Wealth in savings accounts is not subject to a change in the inflation tax because the nominal interest rate will increase with the rise in inflation. But holders of savings accounts are hurt by the increase in the inflation rate because they are taxed on their nominal interest income, so their real returns are lower.

































